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s| ; cfof]hgfsf] gfd hDdf ah]^ s}lkmot 

1 lgns07 gd'gf df=lj= em\ofn, 9f]sf, kmlg{r/     200,000.00 

2 k|fylds :jf:Yo s]Gb|, lhjlhj] 8lDª;fO6 lgdf{0f tyf ;]km\6L 6\of+sL ;kmfO{      260,000.00 

3 P H C eGHofª rf}tf/f ;8s :t/f]GgtL    1,000,000.00 

4 xflK;n] 8fF8f Hofªnfª, cfn8fF8f, nf]lsn ;8s :t/f]GgtL     400,000.00 

5 u}/fufpFkmfF6 s[lif ;8s     500,000.00 

6 9Ff8s'jf dfg]8fF8f ;8s :t/f]GgtL     200,000.00 

7 9fF8sf]n] l8kmfF6 ;8s :t/f]GgtL     200,000.00 

8 ?K;]kfgL b]jsf]6f 6f]n ;8s :t/f]GgtL     100,000.00 

9 bfOu/]rf}tf/f x'b} w';3fF/L ;8s :t/f]GgtL     100,000.00 

10 l;Dn] vf]nf b]lv jf]l8{ª;Dd uf]/]6f] jf6f] lgdf{0f     200,000.00 

11 kw]?6f]n x'b} 9fF8:s"n;Dd uf]/]6f]jf6f] lgdf{0f     200,000.00 

12 u}/LufpF rf}tf/f gfnf tyf af6f] ;'wf/     200,000.00 

13 kf]lnlyg kfO{k4f/f pbfpg]9'ªuf d"nkfgL s6fpg]     250,000.00 

14 kw]F/f]vf]nf sNe6{ lgdf{0f     400,000.00 

15 cfn8fF8f ;fd"bflos ejg lgdf{0f-lgoldt_     300,000.00 

16 xflK;n]8fF8f d/g3f6 lgdf{0f-lgoldt_     200,000.00 

17 pTkGg]Zj/ dxfb]j dlGb/ lgdf{0f -lgoldt_     200,000.00 

18 e}kl/ cfpg]  vr{     550,000.00 

19 ljkb Joj:yfkg sf]if     100,000.00 

hDdfM    5,560,000.00 
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